Subtracting on Number Lines (C)

Use the number lines to calculate each difference.

80 — 65 =

0 5 10 15 20 25 30 35 40 45 50

75 80 8 90 95 100

0 5 10 15 20 25 30 35 4

75 80 8 90 95 100

0 5 10 15 20 25 30 35 4

75 80 8 90 95 100

0 5 10 15 20 25 30 35 40 45 50

75 80 8 90 95 100

0 5 10 15 20 25 30 35 4

75 80 8 90 95 100
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Subtracting on Number Lines (C) Answers

Use the number lines to calculate each difference.

80 —65=_15

0 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 8 90

45 —25 = _20

T

95

100

0 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 8 90

D—=T70=_5_

95

100

0 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 8 90

80 — 60 = _2

)

95

100

0 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 8 90

7D —50=_2

)

95

100

0 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 8 90

95

100
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